
Supplemental Figure 1
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Supplemental Figure 2

(A) (C)

(B) (D)

0

5 0

1 0 0

1 5 0

2
-D

O
G

 U
p

ta
k

e
 (

%
C

o
n

tr
o

l)

1 0 5 0 1 0 0 1 0 5 0 1 0 0

R e s v e ra tro l ( M )

L e a n O b e s e

n = 3 n = 3

0

5 0

1 0 0

1 5 0

2
-D

O
G

 U
p

ta
k

e
 (

%
C

o
n

tr
o

l)

0 .1 0 .51 0 .10 .5 1

A IC A R  (m M )

L e a n O b e s e

n = 3 n = 3

0

5 0

1 0 0

1 5 0

2 0 0

G
ly

c
o

ly
s

is
 (

%
 C

o
n

tr
o

l)

1 0 5 0 1 0 0 1 0 5 0 1 0 0

R e s v e ra tro l ( M )

L e a n O b e s e

n = 4 n = 3

0

5 0

1 0 0

1 5 0

2 0 0

G
ly

c
o

ly
s

is
 (

%
 C

o
n

tr
o

l)

0 .1 0 .5 1 0 .1 0 .5 1

A IC A R  (m M )

L e a n O b e s e

n = 4 n = 3


